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Dans
ce
fragment,
à
la
mesure
2,
voici
les
notes:
D
Db
E
B
Ab
A.
Le
protocole
que
nous

nous
somme
imposés
est
la
modélisation
des
notes
suivant
le
vecteur
V
(-1,+1,-5,+5).

Posons-nous
à
présent
la
question:
"Chaque
note

de
ce
contrepoint
répond-il
à
ce
protocole
?

Pour
cela,
examinons

si
des
relations
(1,5)
de
signe
(-,+)
sont
bien
présentes.
Analysons

les
couples
de
notes,
s'ils
existent

et
repondons
par
oui
ou
par
non
quant
à
leur
existence.
(D
Db=1=oui),
Db
Ab=5=oui),
(A
E=5=oui),
E
B=5=oui).
En
conclusion,
oui,
toutes
les
notes

remplissent
les
conditions
telles
qu'elles
appartiennent
au
vecteur
V
(-1,-5,+1,+5).


Journal	
17	avril	24

Sacem	©	François-Xavier	Jean		-		17	avril	24		N°00483	46	92	21	thèse	freelance	de	doctorat	

https://www.free-scores.com


18

11

5

Vln.

Vln.

Vln.

Vlc

Vlc

Vlc





 




























 

 



 































  






 





 













































 



 



























































































 










 












 


















 













































  











tout	vient	du	fait	que
(-1,+1,-5,+5)	est	pêle-mêle
dans	la	mesure

Bb/Eb/Ab/A\E
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